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Bl = AHazrey MMF Zt3 H=Za Zael(c2) 71232 CD(91Y) a2|
2025.04.29(2h 259.8 2204 2.75% 2.767% 2.71% 2HE 388.860%
2025.04.30(5) 263.2 2132 2.78% 2.783% 2.71% 5 398.800%
2025.05.02(2) 263.0 2177 2.79% 2.750% 2.75% 2.71% 1049 438.100%
2025.05.07() 262.5 2216 2.79% 2.733% 2.71% 304E 484.900%
2025.05.08(%) 2633 2.75% 2.758% 2.70% 10Y-2Y 49240
253 21537 Bl of @ \
g5 X E HUryH| a7 5 =Y R XA 27| xH 2
KOSPI 2.79.48 #VALUE! 55.03.10 =3 25-2 1,048 | 2%x 3,700 = 2¥*{ 14,000
KOSDAQ 729.59 1235 25.07.10 HEEH 1,000 | Of™x4 9,700 | OfF%{ 11,350
ghel-J 1,409.90% -17.008 26.12.10 =1 23-10 800 | AFKY 54 | AFKY 1,560
k)Y 2.281% 14 25.06.10 =1 15-2 -510 | SAHKH 4,600 & 2HKl 5,900
Z1310Y 2.622% 59 53.03.10 =1 23-2 -600 SAHA 1,100
Z110Y-3Y 341 45 29.03.10 F1 24-1 -920
7|12t KOREAN/FOREIGN =7} MUy 7|2 CHINESE =7
O/N 440 435 436 0.00 O/N 437 430 433
T/N 440 435 437 0.01 T/N 438 431 434
1w 445 435 4.40 0.00 1w 4.40 430 435
1S 455 445 448 -0.01 1S 453 443 450
3s 460 450 458 0.01 3s 4.60 450 455
65 460 445 455 0.01 6S 4.60 450 455
453 433 450 0.00 1YR 453 443 447
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BID/OFFER CLOSING USDEHArE 2| Hchy| KORIBOR SOFR TENOR BID
O/N -9/-5 -7 455 -0.52 2.75 4.32000 1M MAR -275
T/N -27/-23 -25 4.90 0.09 2.75 432168 1W1S -220
1w -65/-59 -62 503 0.11 2.75 432393 1*2 -290
1S -280/-270 -275 5.02 -0.05 2.72 433741 1%3 -565
3s -850/-830 -840 5.08 0.02 2.69 4.29824 1%6 -1330
65 -1670/-1610 -1640 501 0.01 2.65 416952 1%9 -2040
1YR -3060/-2960 -3010 4.80 0.00 2.57 3.89320 1*12 -2710
FOMC 1.28~1.29 / 3.18~3.19 / 5.6~5.7 / 6.17~6.18 / 7.29~7.30 / 9.16~9.17 / 10.28~10.29 / 12.9~12.100
2E9 1.16(5) / 2.25(=h / 4.17(3) / 5.29(%) / 7.10(8) / 8.28(%) / 10.23(F) / 11.27(F)

x=Y 1.8(%) / 2.5(=) / 3.5(=) / 49(=) / 5.7(=) / 6.11(F) / 7.9(=F) / 8.6(=) / 9.10(=) / 10.8(=) / 11.5(=) / 12.10(=)
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6m 2.5600
9m 24375
1y 2.3450
1.5y 2.2675
2y 2.2350
3y 22175
4y 2.2450
Sy 2.2675
6y 2.2975
7y 2.3325
8y 2.3625
9y 2.3900
10y 2.4100
12y 24275
15y 24125
20y 2.3075
IRS +8
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T2 37t
1*2y -11.00
1*3y -12.75
2*5y 3.25
3*5y 5.00
5*10y 14.25
10*20y -10.25
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6mM*9m*1y -3.00
1%1.5%2y -4.50
2*5*10y -11.00

5*7*10y -1.25
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_________ 48 29 48 302 590290 ———_ 53y 7Y 59 gl —5%10 12.75 12.75 13.5 15.25 14.25
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Ct7| SPREAD %7| SPREAD
5 475 45 55 5
192 ——1%3 P
0 0 35 25 2.75 3.75 3.25
_5 5
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4% 20% 4% 30 58 2% 58 7Y 58 8 4a 292 48 302 | 22 o8 7S o 82
—1%2 -1 -12.75 -11.25 -12.75 -11 2*5 35 25 275 375 3.25
—1*3 -12.25 -14.5 -13 -14.5 -12.75 3*5 4.75 4.25 4.5 55 5
1020 -10.25 -10.25 -10.25 -10.25 -10.25
F8 FLY 2*5*10y FLY
0.00 0
- - -3.00 -3.00 -3.00
200 3.25 3.25 5
-4.00 -2.5 -2.75 -3.25 -4
6.00 -4.25 -45
. -0.75 -0.75 1 6
-8.00 :
. -1.25 =125 8 -9.25
1000 4% 209 4% 302 58 29 59 7Y 5% 8Y 0 -10.25 -10.75 15 -1
5¢7%10y -0.75 -0.75 -1 -1.25 -1.25 \/
1*1.5%2y -2.5 -2.75 -3.25 -4.25 -4.5 -12
—6%9*12m -3.25 -3.25 -3.00 -3.00 -3.00 -14
48 29¢ 48 30 5¢ 2¢ 5€ 7Y 58 8y
—6%9*12m 1*1.5*2y 5*7*10y —2*5*10y -9.25 -10.25 -10.75 115 1




